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B.B.A. (Par-t-I) '
Term End Examination, 2020-21
- Group-A |
BUSINESS MATHEMATICS
Paper : Second
Time Allowed : Three hours
Maximum Marks : 75I
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Note Aitempr all five questions. All questions
carry equal marks. Give calculation
wherever necessary. Log table and
‘Graph paper may be prowded on
demand.
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M HT W x+y-z=0.
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If x=|3 44, y| -1 -5 fmd z such that
5 6 —4 3
x+y-z=0.
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Find the valu‘a;gif-.x with the help of logarithm
where :
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®) W W 1w ﬁ AR _ L IR cos - sin.-.B_.,-'—-,ﬁ:' sin 9.
| _ . If cos@+si_r_1£)=\/_2- cos 0, show that
(3-678) | K o
(42.77)‘”_ | cosB*sinﬁzﬁ sinf.
XU
Find.out the value with the help of log tables : S or
4 . . .
_,(_36_78)“ - | (a) A 4tan o =3, T N TH A F—
a2y - y
_ S [4sin83—cos€i+1}
' Asin@+cosO—1
-l o - |
Unit-II a If 4 tan 6 = 3, evaluate :
2, (2) TH ﬁﬁ?ﬂ{—?' [451.n9~_0059+1)_
: 45inB+cosB -1
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Fvaluate 1 - : ' cos 4 + sin 4 '=sinA+cosA
' 1-tanAd 1l-cotd

5¢0s2 60°+ 4cos? 30°— tan’ 45°
sin® 30° +cos® 60°

Scos? 60°+ dcos? 30° —tan® 45°

Sinl 3094'0032 600 o Provethat: . :

cosd  sind _ .
S =sin A +cos A

(b). P& cosB+sin@=/2 cose &, W fug
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What do you understand by\rapo?
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In a cash-box’ there are coins worth ¥ 64.
The ratio betwet;;n | rupee, 50. pé_is_e-_and 25
paise coins as per their numbers is 4:5:6.

Find the total nurnber of coins of each
denomination.
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The- pepulatlon of a:cify mcraases 10%
apqually A the}pqpulauon at xhe beginning

‘bﬂﬂ’?%” ﬁﬂd thp p@pulatlon at the end of

" third year.:

©

@WMWWS%WWW
o T ¥ AR T o T 980 TR
. ammmmwaﬁﬁ
= ol

A man spends 8% of his income on
recreation. If this monthly income is ¥ 980,
Find his expenditure on recreation per annuix.
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Explam the followmg
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Comxmssipn and—Brokerage

(i) W TG

General comxmssmn
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(itf) 9fely e o
Del credere commission
(i) e we
Trade discount
(v) TR Sl
Cash discount
AT
Or _
(a) w5 farden A & H 120 o F T
T 25% B g8 o Y TEd W It
A seller lost 25% by selling on article for
¥ 120. Find the purchase price.
(b) Forelt =g W % 120 A ATA W 25% W
2 ¥ AR I T W T 128 F 9™
T frae im0 g0
There is a profit of 25% .whét’if%-én-*ai‘ticle'i_s_
sold at¥ 120; What wnllbe"ﬂf winpercent -' _I
i the article is sold for 1287

~ Explain the following :
(i) Simple interest
(i) Rate
 (iii) Time
(iv) Principal
W) .;Amoqn.t
. (vi)-Compéund interest

w Vil E}fiéctiw:rate cae
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T 2500 1 2% ol & fad 4% aiftis =wafy
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Find the compound interest on ¥ 2500 in 2%

yé;éi‘rs at 4% p.a. compounded annually. Find the
amount also. :
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